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GENERAL INSTRUCTIONS 

 
1. Do Not Open The Seal Of This Booklet Until The Signal To 
Start Is Given. 
2. Use Only An HB Pencil To Fill In The Answer Sheet. 
3. In Your Answer Sheet Enter: 
(A) In Box 2 The Application Number. 
(B) In Box 3 The Ten-Digit Admit Card Number. 
(C) In Box 4 The Centre Code. 
4. Keep Only The Admit Card, Pencil, Eraser And Sharpener With You. DO NOT KEEP With 
You Books, Rulers, Slide Rules, Drawing Instrument, Calculators (Including Watch Calculator), 
Pagers, Cellular Phones Or Any Other Device Or Loose Paper. These Should Be Left At A 
Place As Indicated By The Invigilator. 
5. Ensure That Your Personal Data Has Been Entered Correctly On Side 1 Of The Answer 
Sheet. 
6. This Test Has Four Sections. Each Section Has Forty (40) Questions. 
Program Applied For Sections To Be Attempted Time Duration 
M.B.A/M.C.A. I, II, III, IV 160 Minutes 
M.B.A I, II, III 120 Minutes 
M.C.A I, II, IV 120 Minutes 
7. In Distributing The Time Over The Sections, Please Bear In Mind That You Need To Demonstrate 
Your Competence Across All The Sections That You Attempt. 
HOW TO ANSWER 
8. Directions For Answering The Questions Are Given In The Test Booklet Before Each Group 
Of Questions. Read These Directions Carefully And Answer The Questions By Darkening The 
Appropriate Ovals. 
9. There Is Only One Correct Answer To Each Question. There Is No Negative Marking. 
10. Do Your Rough Work Only On The Test Booklet In The Space Provided And NOT On The 
Answer Sheet. 
11. Follow The Instructions Of The Invigilator. Candidates Found Violating The Instructions Will 
Be Disqualified. 
AFTER THE TEST 
12. At The End Of The Test, Remain Seated. The Invigilator Will Collect The Answer Sheet And 
The Test Booklet From You. Do Not Leave The Hall Till The Invigilator Announces, “You May 
Leave Now”. The Invigilator Will Make The Announcement Only After Collecting The Answer 
Sheets From All The Candidates In The Room. 
Candidates Giving Assistance Or Seeking/Receiving Help From Any Source In Answering Questions 
Or Copying In Any Manner In The Test Will Forfeit Their Chances Of Being Considered For 
Admission. The Institutes Reserve The Right To Exclude Any Question Or Questions From 
This Test Booklet For Final Evaluation. 
_ 
SPACE FOR ROUGH WORK 
_ 
______ __ __ _ ______ ________ ___  
NUMBER OF QUESTIONS : 40 
DIRECTIONS For Questions 1 To 20: Read The Following Passages And Answer The Questions That 
Follow. 



 

 

________ 
When We Perceive An Object, We Automatically Tend To Label It (Like Nice, Bad, Wet, Dry, Light, 
Dark, Etc). And Our Mind Reacts On The Basis Of Our Own Mental Labelling Of An Object. No Wonder 
We Tend To React To Situations In A Subjective Manner. All Perceived Objects Are Conditioned By 
Our Senses And Our Own Mind. This Leads To The Dramatic Conclusion That We Are Not And By 
Definition 
Can Never Be Objective! 
Our Labelling Leads Not Only To Problems Like Anger And Attachment, But Also To The More Basic 
Problem That We Think We Are Somehow Separate From The Outside World. But Are We Separate 
From The Outside World? 
When We See Something – For Example A Table – It Appears To Be Separate From The Rest Of The 
World, Just Standing There By Itself, But Is That Correct? How Could The Table Stand There Without 
The Ground Supporting It? How Could The Table Exist Without A Carpenter Making It From Pieces 
Of Wood? The Pieces Of Wood Come From A Tree, Which Comes From A Seed, Water, Soil, Air, 
The Sun And Its Nuclear Fusion Of Hydrogen Atoms, Etc. Every Object Needs Causes And Conditions 
To Exist, Just Like We Need Our Parents, Food, Air, Clothes And Many More Things To Exist. In This 
Way, It Becomes Impossible To Maintain That 'I' Am Separate From The Outside World, However Much 
It Feels That Way. 
1. The Writer Says That We Can Never Be Objective Because: 
1] We Label All That We Possess. 
2] We React To Situations. 
3] We Create Our Own Mental Labels Of Objects. 
4] We Separate Ourselves From The Outside World. 
2. The Act Of Labelling All That We See: 
1] Is The Same For All People. 
2] Is The Same For People Belonging To A Region. 
3] Depends Upon The Situation. 
4] Depends On Our Personal Conditioning. 
3. By Giving The Example Of The Table, The Writer Shows How: 
1] The Table Is An Independent Entity. 
2] All Things In This Universe Are Interconnected. 
3] A Table Is Actually Not A Table. 
4] Objects Made Of Wood Cannot Be Separated From The World. 
_ 
4. The Feeling That 'I' Am An Independent Being Is Not True Because: 
1] Every Object Needs Causes And Conditions To Exist. 
2] We Belong To Our Parents. 
3] We Are Social Beings. 
4] This Is The Writer's Subjective Opinion. 
5. According To The Writer: 
1] The Subjective Act Of Labelling Leads To Emotional Problems. 
2] Nothing In This Universe Can Have A Separate Existence. 
3] Human Beings Are Different From Objects Like A Table. 
4] [1] And [2]. 
________ 
Censorship Is The Control Of Forms Of Human Expression; It Is Sometimes Implemented By The 
Government. 
The Visible Motive Of Censorship Is Often To Stabilize Or Improve The Society That The Government 
Has Control Over. It Is Most Commonly Applied To Acts That Occur In Public Circumstances, And 
Most Formally Involves The Suppression Of Ideas. 
The Content Of School Textbooks Is Often The Issue Of Debate, Since The Target Audience Of School 
Textbooks Is Young People, And The Term "Whitewashing" Is The One Commonly Used To Refer To 
Selective Removal Of Critical Or Damaging Evidence Or Comment. The Representation Of Every 
Society's 
Flaws Or Misconduct Is Typically Downplayed In Favour Of A More Nationalist Or Patriotic View. 
6. According To The Writer, Censorship Is: 



 

 

1] Nothing But A Government Tool. 
2] A Controlling Device. 
3] A Waste Of Time. 
4] Exclusively For History Text Books. 
7. Another Word Used To Refer To ‘Censorship’ In This Passage Is: 
1] Suppression. 
2] Damaging. 
3] Whitewashing. 
4] Socialization. 
8. The Apparent Reason For Censorship Usually Is: 
1] To Stabilize The Society. 
2] To Keep Some Information Secret. 
3] To Protect Governments. 
4] To Promote Patriotism. 
_ 
9. According To The Passage, An Often Debated Area Of Censorship Is With Regard To: 
1] History Textbooks For School Children. 
2] School Textbooks. 
3] Movies Screened For Children. 
4] Religious Doctrines. 
10. The Content Of School Textbooks Is Open To Debate Because: 
1] This Is Where Most Errors Occur. 
2] The Target Reader Is Young And Has An Impressionable Mind. 
3] Most People Read These Books. 
4] Children Will Not Protest Against Censorship. 
________ 
External Factors Such As Money, Prestige Or Family History Can Often Influence Initial Career Choices. 
However, As You Discover More About Yourself, You May Find That The 'Right' Career Choice For 
You Is Driven By More Personal Factors. 
Ultimately The Right Career Decision For You Is Based On Your Skills, Your Achievements, Your 
Interests 
And Your Values. The Easiest Way To Start Is With Your Academic Achievements At School Or At 
University. While Some Employers Feel Quite Strongly That A Pattern Of Achievement In Education 
Is Likely To Be Repeated In Later Years, Most Others Are Interested In Far More Than A Degree 
Certificate 
And Will Look For Certain Skills In All Aspects Of A Potential Employee's Life. Advising, Coaching, 
Communicating, Analysing, Researching And Organising Are Only A Few Of The Hundreds Of Skills 
That 
You May Possess. 
Assess Your Personal Values And Your Interests And Having Done That, You May Not Have Discovered 
The Exact Career You Want To Follow, But You Will Have Discovered What You're Good At, What 
You Like And What You Value. 
11. According To The Writer, Initially We Base Our Career Choices On: 
1] What Our Parents Want Us To Do. 
2] The Kind Of Money We Wish To Earn. 
3] Our Aptitude And Skills. 
4] [1] And [2]. 
12. While Looking For Our First Job, If We Are Not Sure Of Our Skills, We Should: 
1] Look At Our Performance In School And College Exams. 
2] Meet A Counselor. 
3] Find Out Our Interests And Values. 
4] [1] And [3]. 
13. For Those Without Job Experience, Some Employers Look At Academic Performance Because 
1] They Trust The School Scores. 
2] That Will Give Them An Idea Of Your Organizing Skills. 
3] A Degree Certificate Says It All. 



 

 

4] They See A Pattern Which They Think Will Be Repeated In Work-Life As Well. 
_ 
14. In Order To Know What We Are Good At, We Should: 
1] Focus On Our Academics. 
2] Evaluate Our Personal Values And Interests. 
3] Move On From One Job To Another. 
4] Wait Till We Grow Old Enough To Understand Our Skills. 
15. Which Of The Following Statements Does The Writer Not Say? 
1] More Than External Factors, One Should Choose A Career Based On Personal Reasons. 
2] If You Don't Have Skills, You Will Never Find The Right Career. 
3] There Are Multiple Skills That Each One Of Us Possesses. 
4] Your Academic Scores Can Stand You In Good Stead While Seeking A Job. 
________ 
Lisa Di Antonio, Known To The World As Mona Lisa, Was Born In The Slums Of Naples In 1479. 
Her Father Was Florentine Nobel Antonio Maria Dinoldo Gherardini. Not Much Is Known About 
Her Childhood. In 1495, At The Age Of 16, She Got Married, In Florence, Italy. Being Of Beauty 
And Good Marriage Material, She Caught The Eye Of Florences’ Noblest Citizen, A Wealthy Silk Trader 
Named Francesco Del Giocondo, Who Was 19 Years Her Senior. Lisa Became His Third Wife. 
Being Poor Most Of Her Life, She Was Now Richer Than She Could Have Ever Imagined. Her Husband, 
However, Was Always Leaving Her Alone To Go On Business Trips And Never Asked Her To 
Accompany 
Him. Lisa Decided To Make Good Of Her Time When She Met An Old Weird Painter Named Leonardo 
Da Vinci. It Is Believed That Her Husband Commissioned The Painter To Keep Lisa Busy While Another 
Story Says That She Met Leonardo On Her Own. 
She Posed In 1503 For Leonardo At The Age Of 24 On A Terrace Over Looking The Mountains. She 
Was Dressed In Florentine Fashion Which Was Heavy And Burdensome. This Began To Take Its Toll 
On The Model. Da Vinci Hired Muses, Jesters And Musicians To Keep Her Mood Up And Jolly While 
He Painted. Being Painted With Oil On Pinewood Was A Hard Tedious Task. It Took 4 Years To Paint 
And Even Longer To Try To Get The Mouth To Look Right. The Dimension Of The Painting Was 
77 X 53 Cm. He Used A Technique He Created Called 'Sfumato' Which Is The Gradual Dissolving Of 
Light And Shade. This Created The Mysterious Effect That Makes The Face Look Like It Is Following 
You At All Times. The Portrait Is Now Smaller Since Two Columns Were Cut Off. This Accounts For 
The Terrace Not Being Seen. 
In 1507, Lisa's Husband Asked Her To Finally Accompany Him On A Trip To Calabria. She Left As 
Soon As She Packed Her Things, Leaving Her Painting Unfinished. Leonardo Waited Years Before He 
Finally Gave Up. Leonardo Took The Painting To France In 1516 And Sold It To King Of France, King 
Francis I, For $105,000, And Was Placed In His Castle In Amboise. Leonardo Died 3 Years After 
Selling His Prized Possession. The Painting However Over The Years Made Its Way To Fontainbleau, 
Paris, Versailles, And Then To The Private Collection Of Ludwig XIV. After The Revolution, The Painting 
Was Hung In The Louvre. Napoleon Took His Turn At Owning The Portrait And Had It Hanging In 
His Bedroom. Of Course, When He Was Banished From Naples, It Then Returned To The Louvre Again. 
Her Face Was Beginning To Get A Green Cast From The Varnish That Was Used In The Painting Process. 
_ 
Nowhere Is It Told If The Lady Herself Knew Of Its Acclaim Or If She Even Cared. Her Death Was 
Recorded In 1528. But It Was For Certain That Her Long And Boring Stint As A Model Was Worth 
Every Minute To Leonardo, Being His Most Famous Painting. Her Aloof But Alluring Smile Made Its 
Way Through The Ages Making Mona Lisa One Of The Most Celebrated, Copied, Stolen And Parodied 
Pieces Of Art In History. 
There Is Little Doubt Of Lisa Di Antonio's Influence Through History. So Much So That Rumors And 
Theory Fly Even Today. One Theory Has It That Leonardo Included A Self-Portrait In The Painting. 
It Can Be Found Along The Left Side While Viewing From The Forehead Along Her Hairline. It Seems 
To Look Like Da Vinci's Profile. Another Theory Is That In The Picture It Is Seen That Lisa Isn't Wearing 
A Wedding Ring That Was Very Traditional At The Time. Did This Mean That She Was Leonardo's 
Mistress? 
This Is One Of The Longest Rumors About The Masterpiece And Its Painter. A Possible Explanation 
Theory Even Goes To Say That The Reason Her Smile Was Only Slight Was Because Of A Problem With 



 

 

Teeth Nashing. That Through Stress She Would Nash Her Teeth. Of Course The Best Theory Came In 
The 16th Century. A Writer Named Firenzuola Taught Us That For The Time Period Of Mona Lisa, 
Her Smile Of Slightly Parted Corners Of Her Mouth Was Considered A Sign Of Elegance. This Certainly 
Can Tell Us Something Of The Woman And Her Existence. 
In Many Ways, She Has Inspired Decades Or Admirers To React To This Mysterious Face. In 1911, 
She Was Stolen From The Louvre. It Was The Biggest Art Heist In History. An Employee, Vinenzo 
Peruggia, Placed The Painting Inside Of His Art Smock And Simply Walked Right Out Of The Museum. 
It Was Suggested That He Was Hired By An Argentine Con Man, Eduardo De Valierno. It Was Two 
Years Later, In 1913, That The Painting Was Found While Trying To Be Sold. On December 30, 1956, 
A Bolivian, Ugo Ungaza Villegas, Stared At The Painting For Hours. He Then Threw A Rock At The 
Painting Permanently Damaging The Pigment Near The Left Elbow. In The 60's And In The 70's, The 
Painting Went On Tour In New York, Moscow And Tokyo Allowing Others To See The Magnificence 
Of Leonardo Da Vinci. But Now Due To International Rule, The Portrait Is Prohibited To Travel. It 
Is Now Housed Permanently In The Louvre Behind Ropes And Bullet-Proof Glass With Conditioned 
Air For Protection. The Sight Of Lisa Has Also Inspired A Song In Writers, Livingston And Evans, 
When They Wrote The Nat King Cole Classic, Mona Lisa. 
For As Long As We Can View The Curious Beauty Known As Mona Lisa, There Will Be Theories And 
Wonder. She Has Inspired History To Be Curious Of The Woman Not Just The Sight Of A Famous 
Painting. 
History Lost Track Of Lisa Di Antonio Herself But Her Face Will Be Remembered To Centuries. As 
Onlookers, We Thank Lisa For Being The Bored Housewife. 
16. The Main Idea In The Passage Is To: 
1] Dispel The Myths Surrounding Mona Lisa. 
2] Detail The Process Of The Phenomenal Painting Of Mona Lisa And Its Sequential History. 
3] Decipher The Relation Between Da Vinci And His Creation. 
4] Track The Number Of Times The Painting Has Been Stolen And Restored. 
17. Which Of The Following Suggests That Mona Lisa Was Never Really Interested In Her Portrait? 
1] Da Vinci Had To Hire Musicians And Jesters To Entertain Mona Lisa While He Was Painting. 
2] Mona Lisa Hurried To Accompany Her Husband On A Trip Without Waiting For The Painting 
To Be Finished. 
3] Lisa Never Returned To Claim The Painting In Spite Of Its Great Reputation As A Masterpiece. 
4] None Of The Above. 
_ 
18. In Which Year Did Da Vinci Sell The Painting? 
1] 1506 2] 1509 3] 1528 4] 1516 
19. Match The Dates On The Left Column With The Events On The Right. 
Dates Events 
A. 1911 E. Mona Lisa Accompanies Husband To Calabria 
B. 1956 F. Attempt To Damage The Painting 
C. 1503 G. Painting Stolen From The Louvre 
D. 1507 H. Mona Lisa Posed For Leonardo 
1] A-G, B-E, C-H, D-F 2] A-G, B-F, C-H, D-E 
3] A-F, B-G, C-H, D-E 4] A-G, B-F, C-E, D-H 
20. By Vocation The Author Is Likely To Be: 
1] An Art Critic 2] An Artist 
3] A Historian 4] A Researcher On Renaissance Paintings 
DIRECTIONS For Questions 21 To 28: In Each Of The Following Questions Select The Grammatically 
Appropriate Option. 
21. 1] It Is Important That People Concentrated On Improving Their Own Situations Rather Than Interfere 
In Others' Affairs. 
2] It Is Important That People Concentrate On Improving Their Own Situations Rather Than Interfere 
In Others' Affairs. 
3] It Is Important That People Concentrate On Improving Their Own Situations Rather Than Interfering 
In Others' Affairs. 
4] It Is Important That People Concentrate On Improving Their Own Situations Rather Than Interfere 
In Other’s Affairs. 



 

 

22. 1] Bob And Myself Will Help The Victims. 
2] I And Bob Will Help The Victims. 
3] Bob And I Will Help The Victims. 
4] Bob And Me Will Help The Victims. 
23. 1] The Earthquake Of Last Year's Damaged The Porcelain In The House. 
2] The Earthquake Of Last Year Damaged The Porcelain In The House. 
3] The Earthquake Of Last Year's Damaged The Porcelains In The House. 
4] The Earthquake Of Last Year Damaged The Porcelains In The House. 
24. 1] Of The Twin Towers, The Safer Was The Building What Faced The Sea. 
2] Of The Twin Towers, The Safest Was The Building What Faced The Sea. 
3] Of The Twin Towers, The Safer Was The Building That Faced The Sea. 
4] Of The Twin Towers, The Safest Was The Building That Faced The Sea. 
25. 1] The Consumer Demanded That The Defective Goods Will Be Replaced By The Store. 
2] The Consumer Demanded That The Defective Goods Be Replaced By The Store. 
3] The Consumer Demanded That The Defective Goods Would Be Replaced By The Store. 
4] The Consumer Demanded That The Defective Goods Shall Be Replaced By The Store. 
_ 
26. 1] The Parents Insisted That The Children Shall Not Leave The Station Until Their Train Had 
Arrived. 
2] The Parents Insisted That The Children Will Not Leave The Station Until Their Train Had 
Arrived. 
3] The Parents Insisted That The Children Left The Station Until Their Train Had Arrived. 
4] The Parents Insisted That The Children Not Leave The Station Until Their Train Had Arrived. 
27. 1] Whomever Crosses This Line First Will Win The Race And Be Declared The Faster. 
2] Whoever Crosses This Line First Will Win The Race And Be Declared The Faster. 
3] Whoever Crosses This Line First Will Win The Race And Be Declared The Fastest. 
4] Whomever Crosses This Line First Will Win The Race And Be Declared The Fastest. 
28. 1] The Receptionist Who Conveyed The Message Said It Was For John And I. 
2] The Receptionist Who Conveyed The Message Said It Was For John And Myself. 
3] The Receptionist Who Conveyed The Message Said It Was For John And Me. 
4] The Receptionist Whom Conveyed The Message Said It Was For John And Me. 
DIRECTIONS For Questions 29 To 40: In Each Of The Following Questions Choose The Option That 
Best Completes The Sentence. 
29. The Prospects Of Any _________ Progress On Disinvestments In The Immediate Future Is ________. 
1] Further, Standard 2] Substantial, Bleak 
3] Future, Illogical 4] Legal, Irrational 
30. Such __________ In A Cash-Strapped State Normally Leads To Charges Of __________ But There 
Are Enough Defenders Of The Mulayam Faith. 
1] Audacity, Corruption 2] Greed, Uprightness 
3] Largesse, Profligacy 4] Avarice, Loyalty 
31. The __________ Of The Party Came To A Halt And A New Sense Of Hope And Purpose __________ 
The Rank And File Of The Congress Throughout The Country. 
1] Democracy, Frenzy 2] Disintegration, Enthused 
3] Experimentation, Jettisoned 4] Agitation, Aggravated 
32. The Media And Concerned Citizens Would Do Well To Keep A Watchful Eye On The Scam, The 
True __________ Of Which Are Only Slowly __________. 
1] Extent, Unfolding 2] Defects, Unrolling 
3] Colours, Palpable 4] Ramifications, Unfolding 
33. But The Real ____________Of French Cooking Is That Artistic ___________Often Spells Business 
Disaster. 
1] Irony, Doom 2] Essence, Pleasure 
3] Paradox, Success 4] Flavour, Beauty 
34. She Decided To Stick To Her Decision ___________ Of The Consequences. 
1] Regardless 2] Regard 3] Regarding 4] Regards 
__ 
35. Food Has Always Really Been All About __________ – Melding An Interesting Taste From Here 



 

 

With A Fascinating Flavour From There. 
1] Discrimination 2] Innovation 3] Refinement 4] Fusion 
36. If We Allow Our Freedom Of Expression To Be __________ Just Because We Have To Put Up 
With A Few Delays We Will Be __________ What We Achieved After Years Of Struggle. 
1] Lessened, Lacking 2] Amplified, Claiming 
3] Increased, Foregoing 4] Curtailed, Foregoing 
37. Arun Asked Ravi __________ He Had Seen Prakash Around. 
1] For 2] That 3] If 4] Did 
38. She Was Born _______ Rajapuram, _______ Karnataka. 
1] On……..For 2] In……..At 3] In……In 4] At…….On 
39. The Americans ___________ The War Of Independence In 1945. 
1] Fight 2] Fought 3] Fit 4] Fights 
40. Prasad __________ In The Factory For Six Years, When His Boss Fired Him. 
1] Had Been Working 2] Has Been Working 
3] Will Work 4] Will Be Working 
__ 
______ ___ __ ____________ ____ 
NUMBER OF QUESTIONS : 40 
DIRECTIONS For Questions 41 To 64: Choose The Correct Alternative. 
41. Find ‘X’ If 
0.25 
4x 
0.5 
5 3x 
0.4 
7x 5 + + = . 
1] 4 2] 5 3] 6 4] 7 
42. When 2 Boxes Of Candles And 3 Boxes Of Lamps Are Used, They Make A Perfect 2 × 9 Arrangement 
And If 7 Boxes Of Candles And 4 Boxes Of Lamps Are Used, Then They Make A 9 × 4 Arrangement 
With One Item Left Aside. What Is The Number Of Lamps In One Box? 
1] 5 2] 3 3] 4 4] 2 
43. A Bookseller Gives Two Sucessive Discounts Of 20% And 15%. If He Gets Rs.272 For A Book, 
Then Find Its Marked Price? 
1] Rs.365 2] Rs.380 3] Rs.400 4] Rs.420 
44. Two Persons A And B Can Complete A Job In 6 Hrs And 9 Hrs Respectively. They Work For 
Half An Hour Alternately. If A Begins Work At 7 Am, When Will The Job Be Completed? 
1] 1:45 Pm 2] 2:10 Pm 3] 2:00 Pm 4] 2:30 Pm 
45. ABCD Is A Rectangular Field Whose Length Is Equal To 3 Less Than Three Times Its Breadth. If 
Area Of The Field Is 60 Sq.M., Then Find The Distance Between Two Farthest Points Of The Field? 
1] 10 M 2] 15 M 3] 13 M 4] 12 M 
46. What Is The Probability That Two Cards Drawn From A Well Shuffled Pack Of Cards Are Red 
Coloured 
Face Cards? 
1] 
221 
30 
2] 
463 
33 
3] 
442 
5 
4] None Of These 
47. A Man Travels From Point A To Point B Which Are 80 Km Apart In 16 Hrs And Covers Another 
40 Km From Point B To Point C In 8 Hrs. Find His Average Speed? 
1] 6 Km/Hr 2] 7 Km/Hr 3] 4 Km/Hr 4] 5 Km/Hr 



 

 

48. Which Is The Least Possible Number Which When Divided By 3, 4, 6 And 9 Leaves 2 As 
A Remainder And Leaves Zero As A Remainder When Divided By 17? 
1] 547 2] 561 3] 578 4] 595 
__ 
49. The Difference Between The Compound Interest And Simple Interest For Two Years Is Rs.6.25. 
If The Principal Sum Is Rs.2500, Then What Is The Rate Percent Per Annum? 
1] 15 2] 5 3] 10 4] 12 
50. In A Glass Jar There Are Some Pink, Blue, Purple And Orange Chocolates. The Number Of Blue 
Chocolates Is Twice That Of Pink And The Number Of Purple Chocolates Is 1 Less Than Twice The 
Number Of Blue Chocolates. If Out Of The 60 Chocolates In The Jar, 19 Are Orange, Then Find 
The Number Of Purple Chocolates. 
1] 21 2] 22 3] 23 4] 24 
51. What Is The Value Of N, If 5 
4 
C 
C 
3 
(N 1) 
2 
N 
= ? 
1] 7 2] 8 3] 9 4] 10 
52. 
B 
A 
D 
E 
C 
Area Of ÄABD Is 4 3 Sq.Units. AE : EC = 1 : 3. Find The Area Of ABCD Given That ÄABD 
Is An Equilateral Triangle. 
1] 15 3 Sq.Units 2] 12 3 Sq.Units 3] 8 3 Sq.Units 4] 16 3 Sq.Units 
53. If Rs.3600 Amount To Rs.4050 In 
2 
5 
Years, Then What Will Rs.5400 Amount To In 
2 
3 
Years 
At The Same Rate Percent Per Annum Simple Interest? 
1] Rs.5915 2] Rs.5850 3] Rs.5805 4] Rs.5785 
54. Solve: [12569 12063 Of 3 × 1 ÷ 6] ÷ 11. 
1] 21 2] 23 3] 25 4] None Of These 
55. 40% Of Wine From A Barrel Containing 360 Litres Of Wine Is Transferred Into An Empty Cask. 
If 55% Of The Wine From The Cask Is Removed, Then Find The Approximate Quantity Of Wine 
Remaining In The Cask. 
1] 61 Litres 2] 63 Litres 3] 65 Litres 4] 67 Litres 
__ 
56. An Amount Of Rs.720 Is Distributed Among A, B And C. A’s Share Is Equal To 
7 
3 
Times Share 
Of B And C’s Share Is 
3 
5 
Times Share Of A. Find The Shares Of A, B And C? 
1] Rs.150, Rs.250, Rs.125 2] Rs.144, Rs.336, Rs.250 



 

 

3] Rs.144, Rs.336, Rs.240 4] Rs.175, Rs.275, Rs.150 
57. Average Of Three Numbers A, B And C Is 180. Also, B = 2a And C = 2.4a. What Is The New 
Average If A Number ‘D’, Which Is Three Fourth Of C, Is Introduced? 
1] 60 2] 180 3] 220 4] None Of These 
58. The Number 1801800 Is Divisible By: 
I. 11 II. 13 III. 25 IV. 8 
1] I, III And IV 2] II, III And IV 3] III And IV 4] All Of These 
59. Find The Value Of M If X2 + (4m – 2)X + 3(M + 1) = 0 Has Equal Roots? 
1] 
4 
1 , –1 2] 
4 
1 , –2 3] 
4 
1 , 2 4] 2, 
2 
1  
60. In A Class Of 60 Students, 35 Like Mathematics And 25 Like History And Mathematics. Find The 
Number Of Students Who Like Only History? 
1] 20 2] 25 3] 35 4] 30 
61. What Is The Last Digit Of The Number (177)27? 
1] 3 2] 1 3] 7 4] 9 
62. A Person Sells Two Articles Of The Same Cost Price Such That One Sale Brings Him A Profit While 
The Other, A Loss. If The Selling Price Of One Of Them Is Rs.216 And That Of The Other Is Rs.144, 
Then Find The Cost Price Of The Articles If Profit Percentage Is Equal To Loss Percentage? 
1] Rs.190 2] Rs.175 3] Rs.180 4] Rs.160 
63. In A Family, The Age Of The Mother Is 5 More Than Three Times The Age Of Her Son. Difference 
Between Age Of Father And Son Is Four Times The Age Of The Son. Find The Age Of The Father, 
If Total Age Of The Family Is 95 Years. 
1] 35 Years 2] 50 Years 3] 45 Years 4] 40 Years 
64. A Committee Of 4 Members Is To Be Formed From 4 Men And 5 Women. Find The Number Of 
Ways In Which This Can Be Done If The Committee Should Contain Exactly 3 Women? 
1] 4C3 × 5 2] (5C3 × 4) – 1 3] 5C3 × 4 4] 4C2 × 4 
__ 
DIRECTIONS For Question 65: 
Mark [1], If X Is Greater Than Y. 
Mark [2], If Y Is Greater Than X. 
Mark [3], If X Is Equal To Y. 
Mark [4], If X Is Greater Than Or Equal To Y. 
65. |X – 1| = 4 
Y2 – 13y + 42 = 0 
DIRECTIONS For Questions 66 To 80 : Choose The Correct Alternative. 
66. A, B And C Start A Business By Investing Rs.400, Rs.600 And Rs.800 Respectively. A Invests 
Rs.200 More After 4 Months While B Withdraws Rs.100 After 7 Months. What Is A’s Share 
Out Of Total Profit Of Rs.454, Earned At The End Of The Year? 
1] Rs.174 2] Rs.156 3] Rs.128 4] Rs.106 
67. A Boat Travels From Phoolnagar To Baharnagar And Back Everyday. When The Boat Travels 
Towards 
Phoolnagar, It Moves Downstream And Its Speed Is 98 Km/Hr, And While Moving Towards Baharnagar, 
Its Speed Is 42 Km/Hr. If It Takes 6 Hrs To Travel Downstream, Then How Long Does It Take To 
Travel Upstream And What Is The Speed Of The Stream? 
1] 12 Hrs; 30 Km/Hr 2] 14 Hrs; 28 Km/Hr 
3] 14 Hrs; 23 Km/Hr 4] 12 Hrs; 32 Km/Hr 
68. Solve: 3 
64 
24 



 

 

3 
343 
1000 × 
1] 
15 
7 
2] 
7 
15 3] 
8 
17 4] 
17 
8 
69. What Is The Greatest Length That Can Be Used To Measure Exactly, The Lengths: 1 M.26 Cm, 
3 M.96 Cm And 10 M.80 Cm? 
1] 27 Cm 2] 36 Cm 3] 9 Cm 4] 18 Cm 
70. On Selling A Bicycle For Rs.1800, Ravi Loses 30%. In Order To Gain 40%, He Must Sell The 
Bicycle For: 
1] Rs.3500 2] Rs.3550 3] Rs.3650 4] None Of These 
71. A Milkman Carries 500 Litres Of Milk With Him And Delivers 12% Of The Milk To Rahul, Then 
Delivers 15% Of The Remaining To Ramesh And Then 20% Of The Remaining To Swapnil. Find 
The Total Quantity Of Milk Delivered By Him. 
1] 255 Litres 2] 214 Litres 3] 235 Litres 4] 200 Litres 
__ 
72. Find The Odd One Out In The Given Group Of Numbers: 9, 25, 49, 64, 121. 
1] 121 2] 25 3] 64 4] 9 
73. The Incomes Of Three Members A, B And C Of A Family Are In The Ratio 3 : 5 : 4 And Their 
Savings Are In The Ratio 2 : 3 : 1. Find The Ratio Of Their Expenses, If Total Income Of The Three 
Is Rs.19200 And The Total Of Their Savings Is Rs.2400? 
1] 10 : 13 : 11 2] 10 : 17 : 15 3] 4 : 5 : 7 4] 6 : 3 : 7 
74. Find The Approximate Value Of 
2.99 4.01 
3 5 
215.95 256.07 
120.99 27.01 32.01 
 
+ . 
1] 2 2] 4 3] 8 4] 6 
75. In A Cube, The Body Diagonal Measures 20 3 Cm In Length. Find The Total Surface Area Of The 
Cube? 
1] 2000 Cm2 2] 2200 Cm2 3] 2400 Cm2 4] None Of These 
76. If HCF And LCM Of Two Numbers Are 16 And 64 Respectively And One Of The Numbers Is 16, 
Then What Is The Second Number? 
1] 64 2] 32 3] 128 4] None Of These 
77. What Is The Remainder When 78 Is Divided By 5? 
1] 0 2] 3 3] 2 4] 1 
78. If Á And Â Are Roots Of The Equation 2x2 + 3x – 9 = 0, Then Find The Value Of 2á + 3â . 
(Given That Á > Â ). 
1] 9 2] –6 3] 6 4] 
2 
3  
79. Vivek’s Present Age Is Seven Less Than Ram’s Age 3 Years Ago. Nitin’s Present Age Is Equal 
To Vivek’s Age 5 Years Hence. Sum Of Their Ages 3 Years Ago Was 51. What Will Be Nitin’s 
Age 10 Years Hence? 
1] 10 More Than Vivek’s Present Age. 
2] 10 More Than Ram’s Present Age. 



 

 

3] 2.5 Times Vivek’s Age 3 Years Ago. 
4] 2 More Than Ram’s Age 5 Years Hence. 
80. If 
Ab 
C 2a 
Ca 
B 2c 
Bc 
A + 2b + + + + 
= 0, Then (A + B + C) = ? (Given That A ` B ` C ` 0). 
1] Abc 2] 0 3] 3abc 4] 2 
__ 
SPACE FOR ROUGH WORK 
__ 
______ ____ __ ______ ________ 
NUMBER OF QUESTIONS : 40 
DIRECTIONS For Questions 81 And 82: Choose The Correct Alternative. 
81. Complete The Series: 121, 200, 285, 376, 473, _____ 
1] 530 2] 533 3] 539 4] 576 
82. Complete The Series: 30, 120, 480, 1920, _____ 
1] 7180 2] 7200 3] 7680 4] 7820 
DIRECTIONS For Question 83: A Certain Relationship Exists Between Elements Of Figure [A] And 
[B]. Choose The Option That Bears An Identical Relationship With Figure [C]. 
83. 
A B C D 
1] 2 ] 3] 4 ] 
3 8 9 
2 1 4 
7 5 6 
7 2 1 
8 9 6 
3 5 4 
1 2 3 
4 5 6 
7 8 9 
9 8 7 9 8 6 9 4 3 9 8 7 
6 5 4 7 5 3 8 5 2 6 4 5 
3 2 1 4 2 1 7 6 1 3 2 1 
DIRECTIONS For Questions 84 And 85: Choose The Option That Will Continue The Series Logically. 
84. 
1] 2 ] 3 ] 4 ] 
C F I O 
Q R S 
__ 
85. 
1] 2 ] 3 ] 4 ] 
K P M O 
R S U 
DIRECTIONS For Questions 86 To 90: Choose The Option That Will Replace The Question Mark So 
As To Complete The Series Logically. 
86. 
1 ] 2 ] 3 ] 4 ] 
87. 
1] 2] 3] 4] 
__ 
88. 



 

 

1] 2] 3] 4] 
89. 
1] 2] 3] 4] 
90. 
1] 2] 3] 4] 
DIRECTIONS For Questions 91 To 93: Choose From The Options, The Block That Will Replace The 
Question Mark So As To Complete The Master Figure [X]. 
91. 
1] 2] 3 ] 4 ] 
__ 
92. 
1] 2] 3 ] 4] 
93. 
1] 2] 3 ] 4 ] 
DIRECTIONS For Question 94: The Figure [X] Represents A Transparent Square Sheet With A Pattern. 
Choose The Option That Appears When The Sheet Is Folded Along The Dotted Line. 
94. 
1] 2] 3 ] 4] 
[X ] 
DIRECTIONS For Question 95: The Question Describes How A Piece Of Paper Is Folded Twice (Steps 
X And Y) And Then Cut (Step Z). Choose The Option That Best Shows What The Paper Would Look 
Like When Unfolded To Normal Size. 
95. 
1] 2 ] 3 ] 4 ] 
[X ] [Y] [Z] 
__ 
DIRECTIONS For Questions 96 To 100: Choose The Correct Alternative. 
96. If O Means ×, Ä Means +, @ Means ÷, ~ Means –, = Means >, × Means =, _ Means <, 
Which Of The Following Statements Is/Are True? 
I. 
2 1 23 
4@ 2 
2000 5 
4O4 8@8 ~ 2 
Ä 
= 
Ä 
Ä 
II. 4 ~ 8 × 8 @ 2 ~ 2 2 
III. 12 @ 3 ~ 7 Ä 9 _ 17 @ 2 Ä 8 
1] I And II 2] Only I 3] I And III 4] All Of These 
97. If A ~ B Means AB + A2, A — B Means A + B + 2AB, Then Find The Value Of 
(9 ~ 2 ÷ 3) + (11 — 4 ~ 7) 
1] 12368 2] 10745 3] 11363 4] 11750 
98. If In A Coding Language, ‘_’ Means ‘+’, ‘_’ Means ‘–’, ‘%’ Means ‘×’, ‘@’ Means ‘÷’ And 
X = 169 @ 13 % 7 _ 300 @ 10 % 3 
Y = 750 @ 10 _ 25 _ 9 __7 % 4 _ 37 
Then Which Of The Following Statements Is False? 
1] X + Y = 0 2] X > Y 3] 4 – 3 = Y 4] Y < 0 < X 
99. If A # B = A2 + B2, A $ B = 
2 
A + B + 3 And A = A , Then A # B = A $ B Holds True 
For: 
1] A = 1; B = 3 2] A = 3; B = 4 3] A = 2; B = 3 4] A = 4; B = 6 
100. Find The Value Of : 26 20 
25 



 

 

625 
10 16 4 4 1 
512 
1024 ÷ × ÷ ÷ + Given That ‘+’ Stands For 
‘–’ ; ‘–’ Stands For ‘×’, ‘×’ Stands For ‘÷’ And ‘÷’ Stands For ‘+’. 
1] 12 2] 13 3] 14 4] 15 
DIRECTIONS For Questions 101 To 104: Choose The Correct Alternative. 
101. The Word Which Is Formed By Using The 2nd, 4th, 6th, 7th And 10th Letter Of The Word 
PRECEDENCE 
Means: 
1] Apprehension 2] Sect 3] Evidence 4] Belief 
102. If You Unscramble The Word RDTCIE, It Means All Of The Following Except: 
1] Praise 2] Repute 3] Faith 4] None Of These 
__ 
103. The Word Which Is Formed By Using The 1st, 4th, 5th And 6th Letter Of The Word ALIMONY 
Means: 
1] Candour 2] Whine 3] Berate 4] Bless 
104. If Even Numbered Letters Of The Word SURROGATE Are Selected, How Many Meaningful Three 
Letter Words Can Be Formed? 
1] None 2] One 3] Two 4] Four 
DIRECTIONS For Questions 105 To 108: Each Of The Questions Consists Of Two Capitalized Words 
Which Have A Certain Relationship With Each Other, Followed By 4 Pairs Of Words. Choose The Pair 
That Is NOT RELATED To Each Other In The Same Way As The Capitalized Pair. 
105. RED : FURY 106. GRAPE : WINE 
1] Black : Evil 1] Flour : Cake 
2] Blue : Sky 2] Fossil : Oil 
3] Green : Envy 3] Index : Book 
4] White : Purity 4] Sand : Glass 
107. FORTHRIGHT : SECRETIVE 108. SLOW : SNAIL 
1] Honest : Deceitful 1] Swift : Cheetah 
2] Sophisticated : Cosmopolitan 2] Knavish : Fox 
3] Better : Inferior 3] Light : Petal 
4] Cultured : Primitive 4] Faithful : Dog 
DIRECTIONS For Questions 109 And 110: Find The Odd One Out. 
109. 1] Monk 2] Warden 3] Rector 4] Rabbi 
110. 1] Swarm 2] Envy 3] Herd 4] Pack 
DIRECTIONS For Questions 111 To 113: Each Statement In The Question Below Is Followed By Four 
Arguments, I, II, III, IV. You Have To Classify Them Into Strong And Weak Arguments And Select 
The Appropriate Option. Strong Arguments Must Be Both Important And Directly Related To The 
Statement. 
Weak Arguments May Not Be Directly Related Or May Be Related To Trivial Aspects Of The Statements 
And May Be Of Minor Importance. 
111. The Government Should Discontinue The Subsidy On Fertilizers. 
I. Yes : Fertilizer Subsidies Are A Big Drain On The Exchequer. 
II. No : Poor Farmers Will Be Hit Most By The Withdrawal Of Subsidy. 
III.Yes : Agriculture Is A Pampered Sector And Agricultural Income Is Not Taxed. 
IV. No : First The Subsidy On Kerosene Should Be Withdrawn. 
1] I And II Are Strong 2] Only III Is Strong 
3] II And IV Are Strong 4] I, II And IV Are Strong 
__ 
112. Cloning Of Humans Should Be Completely Banned. 
I. No : It Gives Another Option To The Couples Who Cannot Have Their Own Children. 
II. Yes : The Cloning Of Any Species, Whether They Be Human Or Non-Human, Is Ethically 
And Morally Wrong 
III.Yes : Cloning Would Lead To Loss Of Identity, Or Sense Of Uniqueness And Individuality 
IV. No : It Would Be A Source Of Perfect Transplant Organs 



 

 

1] Only I And IV Are Strong. 2] All Are Strong. 
3] All Are Weak. 4] Only I Is Weak. 
113. Students Must Be Given The Opportunity To Assess The Performance Of Their Teachers. 
I. Yes : Feedback From Students Would Help Teachers To Change Their Style Of Teaching For 
The Benefit Of The Students. 
II. No : Students Might Bring In Their Personal Bias Which Might Dilute The Effectiveness Of 
The Feedback. 
III.No : To Judge A Person One Must Be In A Position Of Authority. 
IV. Yes : This Would Strengthen Student-Teacher Relationship. 
1] I And II Are Strong 2] I And IV Are Strong 
3] Only I Is Strong 4] I, III And IV Are Strong 
DIRECTIONS For Questions 114 And 115: You Are Given Two Sentences, A And B. 
Mark [1], If A Is The Cause And B Is The Effect. 
Mark [2], If B Is The Cause And A Is The Effect. 
Mark [3], If A And B Are Both Independent Causes. 
Mark [4], If A And B Are Not Related. 
114. A] The Match Was Cancelled As Illegal Ticket Holders Created A Riot-Like Situation. 
B] In The Absence Of Administrative Control, Local Goons Sold False Tickets. 
115. A] They Were Late For The Movie. 
B] They Did Not Get Good Seats. 
DIRECTIONS For Questions 116 And 117: A Statement Is Followed By Two Courses Of Action, A And 
B. 
Mark [1], If A Should Be The Course Of Action. 
Mark [2], If B Should Be The Course Of Action. 
Mark [3], If A Is To Be Followed By B As The Course Of Action. 
Mark [4], If B Is To Be Followed By A As The Course Of Action. 
116. The Students Of This College Frequently Skip Classes. 
A] A Minimum Attendance Requirement Must Be Fixed By The College. 
B] No Student Should Be Allowed To Enter A Class Late. 
117. The Employee Of The Office Has Been Caught Embezzling The Company Funds. 
A] The Concerned Employee Should Be Sacked. 
B] The Employee's Assets Should Be Frozen. 
__ 
DIRECTIONS For Questions 118 To 120: Given Below Is A Passage Followed By Some Inferences. 
Mark [1], If The Inference Is ‘Definitely True’, I.E., It Follows Directly From The Passage. 
Mark [2], If The Inference Is ‘Probably True’, But Not Definitely True. 
Mark [3], If The Data Is Insufficient To Draw The Inference. 
Mark [4], If The Inference Is ‘Definitely False’, I.E., Contradictory To The Given Passage. 
The Hindi Film "Lagaan" May Have Been Made A Little Earlier If Its Director Had Opted For A Violent 
Climax. Ashutosh Gowarikar, Writer And Director Of "Lagaan", Was Initially Turned Down By Various 
Producers And Financiers. Perhaps His Quaint Tale About A Non-Violent Triumph Over Oppression And 
Humiliation Seemed Too Far From The Set Formula Of Commercial Cinema. One Producer Was Willing 
To Take On The Project Provided Gowarikar Changed The Story To Kill The Bad Guy In The End. 
However, 
Gowarikar Stuck To His Convictions And The Result Is A Rather Gandhian Film That Has Become A 
Run-Away Hit. This Has Reinforced A Familiar Truth That The Audience Of Commercial Films Is Not 
As Bloodthirsty As Many Film Producers Would Like To Believe. But Even More Importantly, "Lagaan" 
Is An Example Of How Defiant And Patient Creativity Can Work Wonders. For Such Determination 
Sometimes Breaks Down Stereotypical Notions Of What Is Possible And What People Want. 
118. The General Perception Of The Audience, According To Many Producers, Is Considered To Be 
Revengeful. 
119. "Lagaan's" Success Can Be Attributed To The Fact That Gowarikar Stuck To The Convention Of 
The Film Industry That Believes It Knows What Is Possible And What Will Be Popular. 
120. Creativity And Determination Defeated Conventional Ideas Considered To Be Mandatory For 
Successful 
Commercial Films. 



 

 

__ 
______ _ _ __ ______ _____ _ _ 
NUMBER OF QUESTIONS : 40 
DIRECTIONS For Questions 121 To 125: Choose The Correct Alternative. 
121. If ‘HELP’ Is Coded As 8-5-3-7 And ‘TEAR’ Is Coded As ‘2-5-1-9’, Then What Is The Code For 
‘SCORE’? 
1] 1-3-6-9-5 2] 1-3-9-6-5 3] 6-3-5-1-9 4] 5-6-9-1-3 
122. If ‘UNLIT’ Is Coded As ‘FMORG’ And ‘SOLID’ Is Coded As ‘HLORW’, Then ‘SLIHV’ Is Code 
For: 
1] SHORE 2] HORSE 3] FIEROS 4] None Of These 
123. If ‘AFTER’ Is Coded As 1-6-20-5-18 And ‘MARK’ Is Coded As 13-1-18-11, Then ‘BLACK’ Is 
Coded As: 
1] 2-12-1-3-11 2] 5-3-6-4-4 3] 12-1-3-11-2 4] 6-3-4-5-4 
124. If ‘PIXEL’ Is Coded As RGZCN And ‘DOWN’ Is Coded As FMYL, Then ‘MORAL’ Is Coded 
As: 
1] OMTYN 2] NTOYM 3] LNTYN 4] OMYNT 
125. If ‘OBLIGE’ Is Coded As PCMJHF And ‘LEAD’ Is Coded As MFBE, Then What Is The Code 
For ‘PROBLEM’? 
1] QSPCMFN 2] OQNAKDL 3] QSPCKDL 4] OQNAMFN 
DIRECTIONS For Questions 126 To 130 : Refer To The Data Below And Answer The Questions That 
Follow. 
The Requirements For The Post Of An Assistant-Manager-Quality Assurance In A Company Are As 
Follows: 
A] Should Have FDA Approval, Should Have Faced Atleast One Audit. 
B] Should Have 8-10 Years Of Experience In Any Of The Industries : Biotech, Pharma, Life Sciences, 
Clinical Research. 
C] Educational Qualification : PG In M.Pharma/Science. 
D] He/She Should Not Be Older Than 40 Years As On July 1, 2006. 
If The Candidate Does Not Satisfy Only Condition [B], Then He/She Is To Be Referred To 
Manager-Quality Assurance. If The Candidate Does Not Satisfy Only Condition [D], Then He/She 
Is To Be Referred To The Project Manager. 
Mark [1], If The Candidate Is Selected For The Post. 
Mark [2], If The Candidate Is To Be Referred To The Manager-Quality Assurance. 
Mark [3], If The Candidate Is To Be Referred To The Project Manager. 
Mark [4], If The Candidate Is Not Selected. 
126. Somdatta Dey Has Done His PG-M.Pharma And Has 9 Years Of Work Experience In Clinical 
Research. 
He Was Born On 12th June, 1968. 
__ 
127. Dilmohan Singh Has 5 Years Of Experience In Biotech Industry And 5 Years In Pharma Industry. 
He Is 38 Years Old As On December 1, 2004. He Has Done His PG-M.Pharma, Has FDA Approval 
And Has Faced 2 Audits. 
128. Mohit Kumar Is 39 Years Old As On January 1, 2005. He Has Done His PG In Science. He Has 
FDA Approval And Has Faced 3 Audits During His Work Experience Of 7 Years In Clinical Research 
Sector. 
129. Shirishe Gupta Is Not Less Than 39 Years Of Age As On December 2004. She Has A PG-M.Pharma 
Degree. She Has 7 Years Of Work Experience In Pharma Industry And 2 Years Of Experience 
As Lecturer, She Has An FDA Approval And Has Faced One Audit. 
130. Shilpa Pal Has FDA Approval And Has Faced 3 Audits In Her 8 Years Of Work Experience In 
Biotech Industry. She Has Done Her PG In Science. She Celebrated Her 38th Birthday On July 
30th, 2003. 
DIRECTIONS For Questions 131 To 135: Answer The Following On The Basis Of The Information Given 
Below. 
A Machine When Fed With A String Of Numbers Generates An Output After Processing The String 
Based On A Unique Logic. If The Following Input Is Fed Into The Machine, It Generates The Desired 
Output In The Following Steps. 



 

 

INPUT : 315 289 275 809 125 
STEP I : 809 289 275 315 125 
STEP II : 809 315 275 289 125 
STEP III: 809 315 289 275 125 
In This Case, STEP III Is The Desired Ouput. 
131. If The Following INPUT Is Fed Into The Machine Which Of These Would Be The Desired Output? 
INPUT : 3245 829 555 189 5123 
1] 5123 829 555 189 3245 
2] 189 555 829 3245 5123 
3] 5123 3245 829 555 189 
4] 3245 5123 555 189 829 
132. How Many Steps Are Required To Generate The Output Of The Following INPUT? 
INPUT : 513 829 725 215 908 
1] 3 2] 2 3] 6 4] 4 
133. Which Number Will Appear At 5th Position From Left At Step II For The Following INPUT? 
INPUT : 13 21 52 91 24 
1] 24 2] 91 3] 52 4] 13 
__ 
134. Which Number Will Appear At 4th Position From The Left In Step III For The Following INPUT? 
INPUT : 125 111 121 131 212 
1] 121 2] 125 3] 111 4] None Of These 
135. What Will Be The Output Of The INPUT Given In Question 134? 
1] 212 131 125 121 111 
2] 212 125 111 131 121 
3] 111 121 131 125 212 
4] 212 111 131 121 125 
DIRECTIONS For Questions 136 To 138: Refer To The Sequence Below And Answer The Questions 
That Follow. 
' 7 B 4 D V 9 5 È C _ K 6 Ø G Ä 4 J 2 
136. If Every Alternate Symbol Starting From First On The Left Is Dropped, Then Which Will Be The 
10th Element From The Right In The Resulting Series? 
1] Ê 2] 5 3] C 4] G 
137. If The Series Is Reversed, Which Would Be The 7th Element To The Left Of The 8th Element From 
The Right? 
1] Ø 2] Ä 3] G 4] 4 
138. If Every 7th Element In The Series Starting From Left Is Dropped, Then How Many Elements Are 
Present Such That They Have Symbols On Their Either Sides? 
1] 0 2] 1 3] 2 4] 3 
DIRECTIONS For Questions 139 And 140: Choose The Correct Alternative. 
139. Rati’s Dog Alex Runs Out Of Its Kennel In The West Direction. She Chases It. She Runs 40 M 
Behind It And Then Walks 9 M In The South Direction. She Then Walks 100 M To Her Left And 
Finally After Walking 20 M In The North Direction, She Finds It By The Bush. How Far Is Alex 
From Its Kennel? 
1] 60 M 2] 49 M 3] 61 M 4] 71 M 
140. Sudama Loads His Handcart With 200 Coconuts At Nariyalnagar. He Pulls His Cart Along 16 Km 
In The East Direction And Delivers 15 Coconuts. He Then Moves 12 Km In The North-East Direction 
And Delivers 20 Coconuts. To Deliver 30 Coconuts To Keshav, He Walks 40 Km In The Southern 
Direction. During The Transaction With Keshav, He Drops One Coconut There By Mistake And Moves 
In The South-West Direction And Walks For 12 Km With The Remaining Coconuts. In Which Direction 
With Respect To Nariyalnagar Did Sudama Drop The Coconut By Mistake? 
1] North-West 2] South-East 3] South-West 4] South 
__ 
DIRECTIONS For Questions 141 To 144: Answer The Following On The Basis Of The Information Given 
Below. 
Five Boys P, Q, R, S And T And Five Girls A, B, C, D And E Are Going For A Picnic. They Travel 
By Motorbikes Of Five Different Companies Viz., Yama, Hona, Suzk, Baja And LMV Such That Only 



 

 

Two Persons Are Riding On A Bike. On Every Bike, One Boy And One Girl Are Seated. 
1. A Does Not Want To Go By Baja 
2. P Does Not Want To Go With B. 
3. C Will Go With R Only When He Is Riding A Yama. 
4. D Will Never Go With R When He Is Riding A Baja. 
5. E Does Not Like LMV Motorbike. 
6. T And C Never Ride The Same Motorbike. 
7. A Will Go With T When He Is Riding Suzk. 
8. C And Q Ride Together On The Same Bike If The Bike Is Hona. 
9. R Does Not Go With B. 
141. Which Of The Following Groups Are Possible? 
I. C, T, Yama II. C, R, Hona III. D, R, Suzk IV. E, T, LMV 
1] I And II 2] III And IV 3] III And II 4] Only III 
142. How Many Boys Do Not Wish To Go With B? 
1] 0 2] 1 3] 2 4] 3 
143. Which Of The Following Group Is Not Possible? 
1] D, S, Suzk 2] A, Q, Hona 3] P, D, Baja 4] C, R, Baja 
144. If R Drives LMV, Then Which Of The Following Statement Is True? 
1] C Will Go With Him 2] B Will Go With Him 
3] E Will Go With Him 4] D Will Go With Him 
DIRECTIONS For Questions 145 To 148: Answer The Following On The Basis Of The Information Given 
Below. 
There Are 10 Books Viz., A, B, C, D, E, F, G, H, I And J. They Fall Into The Following Categories: 
Literature, Philosophy, Politics, Science And Sociology. The Number Of Books Under Each Category 
Is Not The Same. These Books Have Been Written By The Authors Paulo, Sen, Mehta, Bond, Laxman, 
Dalal, Anand And Kumar. Sen And Dalal Have Written 2 Books Each. A Particular Writer Writes 
Books Only On One Of The 5 Subjects Given Above And, 
1. Books On Sociology Are Written By Bond And Mehta. 
2. Book A Is Written By Bond. 
3. Books I And J Are Books On Philosophy. 
4. Laxman Writes On Politics. 
5. Books Written By Anand And Kumar Are Books On Literature. 
6. Books E, F And G Are On Science. 
7. Book H Is On Politics. 
8. Books Under The Categories Of Sociology And Literature Are In Alphabetical Order. 
145. If Book D Is Written By Kumar, Then Which Book Does Anand Write? 
1] Book C 2] Book A 
3] Book B 4] Cannot Be Determined 
__ 
146. If Book G Is Written By Paulo, Then Books Written By Sen Fall Under Which Category? 
1] Sociology 2] Science 
3] Philosophy 4] Cannot Be Determined 
147. Which Of The Following Information Is Required To Determine The Complete Matrix Correctly? 
1] Books Written By Sen Are Based On Science 
2] Books Written By Dalal Are Based On Philosophy 
3] Both [1] And [2] 
4] None Of These 
148. Which Of The Following Is Definitely False? 
1] Sen Writes A Book On Science 
2] Paulo Writes A Book On Philosophy 
3] Dalal Writes A Book On Science 
4] None Of These 
DIRECTIONS For Questions 149 To 152: Answer The Following On The Basis Of The Information Given 
Below. 
In A Family Of 11 Members And Spanning Across Three Generations, The Following Information Is 
Given About The Family: 



 

 

1. The Number Of Males In The Ist, Iind And Iiird Generation Are 1, 2 And 2 Respectively. The 
Number Of Females In Each Of The Three Generations Is 2. 
2. A Is Married To B, Both Being Grandparents In The Family And Have Two Children. E Is Sister 
Of A. 
3. B Is Mother-In-Law Of M Who Is A Female And Also Of S Who Is A Male. 
4. O Is A Cousin Of F (Both Being Grandchildren And Of The Same Gender). 
5. T Is Paternal Aunt Of F And K (Who Is A Female), F And K Both Being Siblings Of Opposite 
Gender. 
6. P Is Daughter Of S And Niece Of Y. 
149. S Is Married To 
1] Y 2] P 3] T 4] None Of These 
150. K’s Father Is 
1] Y 2] P 3] T 4] None Of These 
151. O’s Aunt Is 
1] T 2] S 3] Y 4] None Of These 
152. A Is 
1] Father Of S 2] Mother Of T 3] Father Of M 4] Father Of Y 
__ 
DIRECTIONS For Questions 153 And 154: Choose The Correct Alternative. 
153. For The Given Figure, Choose From The Options, The Number That Will Replace The Question 
Mark. 
17 27 
85 
? 
5 297 
9 
13 
1] 163 2] 168 3] 175 4] 179 
154. For The Given Figure Below, Choose From The Options, The Number That Will Replace The 
Question 
Mark. 
5 
5 12 
9 7 
? 3 6 
1] 100 2] 1000 3] 10000 4] None Of These 
DIRECTIONS For Questions 155 To 158: Answer The Following On The Basis Of The Information Given 
Below. 
Six Kids Tina, Amar, Harsh, Piya, Sweety And Sahil Are Participating In A Fancy Dress Competition 
And Are Dressed As Jerry, Bravo, Cindrella, Noddy, Tweety And Minnie, Not Necessarily In The Same 
Order. We Know That, 
1. Cindrella Walks In First. 
2. Aman Is Dressed As Bravo. 
3. Bravo Has Harsh And Sweety Following Him In The Same Order. 
4. Minnie Walks After Sahil And Before Aman. 
5. Aman Is The Third Kid After Tina, Tina Not Being Second To Appear And Aman Not Being The 
Last To Appear. 
6. Noddy Follows Tweety. 
7. Jerry And Aman Do Not Follow Or Lead Each Other. 
155. Who Is Dressed As Minnie? 
1] Sweety 2] Tina 3] Harsh 4] Piya 
156. If The Kids Go On The Stage Thrice In The Same Order, Then The Kid Who Would Be In The 
Eleventh 
Position Is Dressed As: 
1] Tweety 2] Minnie 3] Jerry 4] Bravo 
157. Who Walks On The Stage Just After Cindrella? 



 

 

1] Minnie 2] Jerry 3] Noddy 4] Tweety 
__ 
158. The Kid Who Walks Between Aman And Sweety Is Dressed As: 
1] Minnie 2] Tweety 3] Jerry 4] Noddy 
DIRECTIONS For Questions 159 And 160 : Refer To The Data Below And Answer The Questions That 
Follow. 
Arrange Numbers 1 To 9 In The Given Grid Such That 
Sum Of Row R1 = Sum Of Row R5 = 11 
Sum Of Row R4 = Sum Of Row R6 = 17 
Sum Of Row R2 = 14 
Sum Of Row R3 = 20 
5 Is Present At The Intersection Of Rows R3 And R6. 
R 3 
R 2 
R1 
R4 
R 5 
R6 
3 
159. Which Number Is Present At The Intersection Of Rows R3 And R4? 
1] 5 2] 6 3] 9 4] 2 
160. Which Number Is Present At The Intersection Of Rows R1 And R6? 
1] 1 2] 2 3] 8 4] 4 
__ 
SPACE FOR ROUGH WORK 
 
 


